AIR [HIEF i

File: Receivers

CAR RADIO DIVISION, RADIO CORPORATION PTY. LTD. General
1090-1140 Centre Road, Clayton — Phone 544 2444 Date: 17-7-72

SRS e e e e S e
Car Radio Service Data

Model MN-C29AL (manually-tuned)

8-Transistor Receiver Designed Specially for Holden LJ Torana

WARNING: Battery lead of these receivers must be connected
only to the POSITIVE terminal of a battery.
Connection to incorrect polarity will damage the receiver.

OK-0Ft  TUNING g VOLUME

INFORMATION CONTAINED IN THIS PUBLJCATION MUST NOT BE REPRODUCED
WITHOUT PRIOR WRITTEN PERMISSION FROM RADIO CORPORATION PTY. LTD.



C29ALA

REPLACEMENT OF OUTPUT TRANSISTOR

NOTE 1. ZEnsure transistor is correct type.

When re-fitting or replacing an output transistor, check that the
mount position faces are clean and free from dust, grit or metal
particles. After removing mount screws, carefully wipe the heat
sink clean.

Smear a thin film of silicone compound, Part No. 1036-001-09, on
both sides of mica washer and the mount faces of chassis and
transistor.

MEASUREMENT AND ADJUSTMENT OF TRANSISTOR COLLECTOR CURRENT

EQUIPMENT: Current Meter: 0-1 amp. d.c.
Supply Source: 1%5-0 volts d.c.

CONDITIONS: Connect supply leads, negative lead to receiver chassis.
Connect 15 Q speaker to receiver socket. Remove link
D-E from circuit board. Connect current meter to pins
D (negative) and E (positive). No signal applied to
antenna socket.

1. Switch receiver ON and set volume control to minimum position.

2. Meter reading will vary with temperature; The collector current
should be as shown in following table:

ROOM TEMPERATURE COLLECTOR CURRENT
Less than 60°F (15°0) 500mA
60 - 800F (15 - 2700)O 490mA
Greater than 80°0F (27°C) 480mA

3. Adjust bias potentiometer (Circuit No. 100) to set the collector
current to the appropriate value (according to temperature in
workshop) as shown in above table. Ensure supply voltage is
maintained at 13-0 V. If the specified current cannot be obtained
within the range of the bias potentiometer, it may be necessary to
change the value of Circuit Component 98. If the output current
is too low and the value of Component 98 is 27k, change this to
18k. Repeat adjustment of bias potentiometer to obtain specified
current value.

CONNECTION OF A FADER CONTROL FOR
USE WITH FRONT AND REAR SPEAKERS

/ FRONT SPEAKER
15 OHM
PLUG

LEAD TWIN 100 OHM

/ REAR SPEAKER
15 OHM

\

POTENTIOMETER



Part Number

MECHANICAL

Description

7111-054-01

7031-036-01
7120-049-01
7198-176-33
7266-008-02
7261-138-26
7310-018-01
7138-070-22
7120-026-01

7167-058-01
7060-022-02
71215=-133-01
7055-412-01
4050-060-03
7272-061-03
7169-743-01
7201-533-11

7126-685-05
7138-193-01
7224-469-01
7294-136-01
7294-136-02
7261-236-03
7261-236-04
7011-009-01
7198-909-02

7198-126-20

7225-293-01
7272-042-02
7076-009-01
7272-049-01
7324-054-01
7294-135-01
7225-294-01
T148-104-11
7056-012-01
7201-533-11
7204-576-15
7091-027-04
7005-094-03
Dial Reading

7201-526-16
7173-056-03
7084-390-51
7201-577-07
7261-142-04
7198-909-02

7309-074-01
4078-080-01

7185-021-02
7031-009-01
7086-088-05
7244-003-01
7291-003-01
1169-051-04
7124-285-03
7188-061-01
7201-526-14
7152-751-01
7148-302-11
7262-008-01

Heat sink (1)
Power transistor mounting hardware
consists of:
Bush (2) moulded
Insulator (1) mica
Screw (2) 3/8" x 1/8" B.S.W.
Washer §2) spring
Washer (2) 1/16" bakelite
Nut (2) 1/8" Whit. special
Solder lug (1)
Insulator (24) glass - transistor, diode and
capacitor mount
Pin (10) circuit board termination
Contact (6) circuit board link
Shield (1) tuner terminals
Contact (2) tuner frame to can
Permeability tuner unit - complete includes:
Thumbwheel assy (1) switching
Locating plate (1) switch thumbwheel
Screw (2) 1/4" x No. 6 Phillips csk hd - locating
plate
Indicator label (1) switch thumbwheel
Stop lug (1)
Spindle (1) thumbwheel
Spacer (as required) 0-018" thick - spindle
Spacer (as required) 0:010" thick - spindle
Washer (as required) spacing - spindle 0-010"
Washer (as required) spacing - spindle 0-018"
Index ball (1) switch thumbwheel
Screw (1) 1/4" x 1/8" Whit. mushroom hd - switch
end of spindle
Screw (1§ 1/4" x 1/8" Whit. csk hd - tuning
end of spindle
Leaf spring (1) index ball mount
Thumbwheel assy (1) tuning - includes sprocket
Drive chain (1§
Idler wheel assy (2) chain tension
Rubber '0' ring (2)
Bush (2) idler wheel mount
Spring clip (1) chain guard
Nut (2) 3/16" Whit. - idler wheel mount
Sprocket and clutch assy (1)
Screw é1o§ 1/4" x No. 6 Phillips csk hd - various
Screw (19) 1/4" x No. 4 Phillips pan hd - various
Light filter (1)
Dial background assy (1)

Numerical 7070-133-16 N.S.W. T7070-133-17
All States 7070-13%-11 W.A./S.A. 7070-133-20
Vic./Tas. 7070-13%-18 QLD./N.T. 7070-133-19
Screw (2) 5/8" x No. 4 Phillips csk hd - dial mount

Pointer (1)
Escutcheon (1)
Screw (4) 1/2" x No. 6 Phillips pan hd - escutcheon mount
Washer (4) escutcheon mount
Screw (2) 1/4"™ x 1/8" Whit. mushroom hd - switch bracket
mount
Screw (2) special - switch mount
Battery lead assy (1) complete
consists of:
Retainer (1) battery lead entry
Bush (1) lead retainer
Contact eyelet (1) lead retainer
Terminal (1)
Shroud (1)
Lead (27" long) yellow
Knob (1) aerial trimmer
Connecting rod (1) switch operating
Screw (2) 3/8" x No. 4 Phillips csk hd - transformer mount
Speed nut (2) captive,No. 4 - transformer mount
Nut (1) 1/8" Whit. hex - switch bracket mount
Washer (1) 1/8" internal shakeproof switch bracket mount



ANTENNA TRIMMER ADJUSTMENT

When the receiver has been installed in the vehicle and the antenna has been connected,

the antenna trimmer at the rear of the receiver must be readjusted. Raise the antenna

to half of its fully extended height. Adjust the antenna trimmer knob for maximum output

on a weak station near 1000 kHz (approximately centre of dial).

NOTE: 1If a fully retractable antenna is fitted, first fully extend all sections, then
retract all but the largest-diameter section (which should remain fully extended).

FULL BROADCAST ALIGNMENT

When an iron core or the tuning unit coil assembly has been replaced, or if station
logging is outside limits, proceed as follows:

1. Connect i.f. attenuator to Test Pins B and C (resistor to Pin C).

2. Turn permeability tuner to high frequency travel stop and set all iron cores soO
that not less than 1/8" of shaft protrudes through front of receiver main frame.

3. Set signal generator frequency to 1625 kHz and connect generator output to
receiver antenna socket with 100pF dummy antenna in series; adjust r.f.
amplifier trimmer capacitor and both antenna trimmer capacitors for maximum
output.

4. Adjust tuning thumbwheel to set dial pointer to approximately 1000 kHz.

In the side of the tuning unit, at the opposite end to the tuning spindle, there
are two slots; place the spring fingers of the alignment gauge into the rear
slot, behind the tongue, as shown in diagram. The 1 cm section of gauge is to be
in front of the tongue and against the projection at the front edge of the slot.
Do not strain or tilt core carriage. Set signal generator freguency to 1000 kHz.
On coil assembly, adjust ferrous cores of oscillator, r.f. amplifier, antenna
transformer and antenna coil for maximum output. Remove gauge.

Set signal generator to 600 kHz. While rocking receiver tuning control through
generator signal, adjust oscillator shunt coil for maximum output.

)
.

6. Turn permeability tuner to low frequency travel stop (cores fully in). Tune
signal generator for maximum receiver output. The lower tuning limit frequency
should be between 510 kHz and 528 kHz.

7. Repeat Step 4.
8. Disconnect the i.f. attenuator and the signal generator.

9. Align pointer (see following paragraph). TONGUE

—

SETTING THE DIAL POINTER

1. Connect dummy antenna to receiver antenna socket.

2. Connect 20ft of antenna wire to dummy antenna.
Accurately tune the receiver to a station near 1000 kHz.
Insert the blade of a screwdriver in the slot at the rear of the pointer

carriage arm; firmly turn slot to bend carriage arm until pointer is
accurately aligned with station's position on dial.

~ W

5. Check dial logging and, if necessary, readjust pointer carriage arm.



RESISTORS

Circuit Value Tol Rating
No. Ohms Description + Watts Part Number
60
61 1k Carbon 10% 1/2 4022-008-01
62 180 k Carbon 10% 1/2 4022-014-03%
63 220 Carbon 10% 1/2 4022-017-01
64 4.7 k Carbon 10% 1/2 4022-005-01
65 560 Carbon 10% 1/2 4022-010-01
66 10 k Carbon 10% 1/2 4022-004-01
67 2.7 k Carbon 10% 1/2 4022-043%-01
68 220 k Carbon 10% 1/2 4022-063-01
69 1 k Carbon 10% 1/2 4022-008-01
70
71 8.2 k Carbon 10% 1/2 4022-027-02
72 56 k Carbon 10% 1/2 4022-022-02
73 10 k Carbon 10% 1/2 4022-004-01
74 1:5 k Carbon 10% 1/2 4022-007-01
75 150 k Carbon 10% 1/2 4022-0%8-01
76 47 k Carbon 10% 1/2 4022-051-03%
77 220 k Carbon 10% 1/2 4022-063-01
78 22 Carbon 10% 1/2 4022-033-01
79 1k Carbon 10% 1/2 4022-008-01
80 68 k Carbon 10% 1/2 4022-002-02
81 1.5 k Carbon 10% 1/2 4022-007-01
82 68 k Carbon 10% 1/2 4022-048-01
83 10 k Carbon 10% 1/2 4022-004-01
84 47 k Carbon 10% 1/2 4022-005-01
85 15 Carbon 10% 1/2 4022-053%-01
86 390 Carbon 10% 1/2 4022-058-04
87 100 Carbon 10% 1/2 4022-062-01
88 1 k Carbon 10% 1/2 4022-008-01
89 10 k Carbon 10% 1/2 4022-004-01
90 330 Carbon 10% 1/2 4022-011-01
91 4-7 k Carbon 10% 1/2 4022-005-01
92 330 Carbon 10% 1/2 4022-011-01
93 12 k Carbon 10% 1/2 4022-029-01
94
95 1.8 k Carbon 10% 1/2 4022-03%0-01
96 50 k Potentiometer - Volume
Control with 20k tap 4025-043-03
97 150 Carbon 10% 1/2 4022-052-01
98 27 k Carbon 10% 1/2 4022-073-01
99 3.3 k Carbon 10% 1/2 4022-006-01
100 470 Potentiometer - preset 1/2 4025-0%6-06
101 50 k Potentiometer - Tone Control 4025-043%-04
102 100 Carbon 10% 1/2 4022-062-01
103 39 k Carbon 10% 1/2 4022-023=-01
104 33 Carbon 10% 1/2 4022-072-01
105 1k Carbon 10% 1/2 4022-008-01
106 4+7 k Carbon 10% 1/2 4022-005-01
107 27 Carbon 10% 1 4022-068-04
108
109

—_
—_
o

PR GG QIR G G N
P G G G G G
OO0V NN =



MISCELLANEQUS

Circuit
No. Description Part Number
120
121 Choke - 6-8 HH 4048-03%2-01
122 Permeability tuner unit 4050-060-03
includes:
Iron sleeve (3) 4065-037-01
Iron sleeve (1) oscillator 4065-038-01
Iron core (4) 4065-0%9-02
Coil assy 4036-053-01
includes:
Antenna coil 4036-057-01
Antenna transformer 4043-03%3%-01
R.F. coil 4036-057-01
Oscillator transformer 4043-03%3-01
123 No. 1 i.f. transformer - yellow/black 4044-03%2-01
124 No. 2 i.f. transformer - yellow/green 4044-032-02
125 Oscillator shunt coil 403%6-044-02
126 No. 3 i.f. transformer - yellow/blue 4044-03%2-03
127 No. 4 i.f. transformer - yellow/violet 4044-0%2-04
128 Choke - filter - ferrite cored 4048-033-01
129 Choke filter - iron cored 4048-025-05
130
131 Transformer - speaker 4042-126-01
132
133 Speaker - 15 @ - 7" x 5" 4056-012-15
134
135 Choke - speaker filter 4048-043%-02
136 Transistor - type BF 195 - r.f. amp. 4128-262-01
137 Transistor - type BF 194 - converter 4128-261-01
138 Transistor - type BF 194 - oscillator 4128-261-01
139 Transistor - type BF 194 - i.f. amp. 4128-261-01
140 Transistor - type BF 194 - i.f. amp. 4128-261-01
141 Diode - type OA 90 - detector 4127-077-01
142 Transistor - type BC 149 - audio amp. 4128-252-01
143 Transistor - type OC 947 - driver 4128-265-01
144 Transistor - type 2N4241 - output 4128-269-01
145
146
147
148 Plug - speaker lead 7171-015-01
149 Antenna fly lead 4078-123-01
150 Indicator lamp - capless 12-16V 4068-020-01
151 Indicator lamp - capless 12-16V 4068-020-01
152
153 ON/OFF switch 4059-250-02
154 Speaker socket 7222-033-11



CAPACITORS

Circuit Tol. Rating
No. Value Description + V DCW Part Number
1 5-55 pF Trimmer - compression 4000-001-05
2 5-55 pF Trimmer - compression 4000-001-03
3 0-0047 HF Polystyrene 5% 50 4004-019-09
4 82 pF Polystyrene 10% 125 4004-020-06
5 4-7 pF Ceramic disc - NPO 0-5 pF 500 4008-042-02
6 4+7 UF Electrolytic 25 4005-055-10
7 0+47 HUF Tantalum 35 4005-056-05
8 0+047 HF Polyester 10% 100 2002-351-00001
9 5-55 pF Trimmer - compression 4000-001-03
10 560 pF Polystyrene 10% 4004-026-03
11 680 pF Polystyrene 10% 100 4004-016-02
12 82 pF Polystyrene 10% 125 4004-020-06
13 0-001 HF Polystyrene 10% 50 4004-001-13
14 0+022 HKF Ceramic disc 10% 100 4008-010-07
15 0-022 UF Ceramic disc 10% 100 4008-010-07
16 0+047 UF Polyester 10% 100 2002-351-00001
17 220 pF Polystyrene 5% 125 4004-005-11
18 27 pF Ceramic disc 0:25 pF 500 4008-013-01
19 56 pF Polystyrene 10% 125 4004-025-05
20 <22 HUF Ceramic disc 20% 25 4008-053-03%
21 0+-0068 HF Polyester 20% 160 4009-004-16
22 220 pF Polystyrene 5% 125 4004-005-11
23 0047 UF Polyester 10% 100 2002-351-00001
24 5¢5-65 pF Trimmer 4000-057-01
25 0047 HF Polyester 10% 100 2002-351-00001
26 0047 HF Polyester 10% 100 2002-351-00001
27 0-047 HF Polyester 10% 100 2002-3%51-00001
28 220 pF Polystyrene 5% 125 4004-005-11
29 4 UF Electrolytic 40 4005-045-02
30
31
32 0047 HF Polyester 10% 100 2002-351-00001
33
34 0:047 HF Polyester 10% 100 2002-3%51-00001
35 0-047 HF Polyester 10% 100 2002-3%51-00001
36 220 pF Polystyrene 5% 125 4004-005-11
37 0:0022 HF Polyester 10% 100 4009-002-20
38 0:0022 HF ‘Polyester 10% 100 4009-002-20
39
40
41 0-1 HUF Polyester 10% 100 2002-3%51-00004
42 100 HF Electrolytic 16 4005-002-63%
43 0047 HUF Polyester 10% 100 2002-351-00001
44 0-001 HF Ceramic Feed Thru 4008-040-08
45 0+1 HF Ceramic disc 100 4008-004-05
46 0:22 HF Polyester 10% 100 4009-007-31
47 0:22 UF Polyester 10% 100 4009-007-31
48 0+1 HF Ceramic disc 100 4008-004-05
49 0-001 HUF Ceramic Feed Thru 4008-040-08
50 640 HF Electrolytic 16 4005-046-05
51 33 UF Electrolytic 16 4005-057-06
52 33 UF Electrolytic 16 4005-057-06
53 0+047 MUF Ceramic disc 25 4008-057-04
54 0+ 047 HF Ceramic disc 25 4008-057-04
55
56
57
58
59 0-001 HF Ceramic disc 500 4008-040-03



ALIGNMENT PROCEDURE

EQUIPMENT

Signal Generator - modulated at 400 Hz

Output Meter - 15 ohms impedance

Generator Series Capacitor - 0-1MF - Part No. 4009-008-20 - for
aligning i.f. stages

I.F. Attenuator - Part No. 4121-014-01

Dummy Antenna - 100pF - Part No. 4121-041-01

Alignment Tools:

(a) Flat Metal Blade Type - Part No. 4121-001-01 - for
adjusting i.f. transformers and oscillator shunt coil.

(b) Chisel Point Type - Part No. 4121-005-01 - for adjusting
trimmer capacitors.

(¢) Tuning Unit Iron Core Adjustor - Part No. 4121-008-01.

(d) Alignment Gauge - Part No. 4121-022-02 - for aligning
tuner at 1000 kHz position.

CONDITIONS

Remove screws and hinge top 1lid upward.

Volume Control - maximum.

Tone Control - maximum.

Output Meter Connection - socket adjacent to battery lead entry point.
Output Level - 50 milliwatts (speaker disconnected).

Supply Voltage - 13 volts d.c.

Polarity - Connect supply positive line to receiver lead. Connect
supply negative line to receiver chassis.

I.F. TRANSFORMER ALIGNMENT

Turn tuning control until cores of tuner unit are out of coil
windings. Insert O-1HF capacitor in series with generator active
lead. Proceed as follows:

GENERATOR GENERATOR
STEP CONNECTION FREQUENCY INSTRUCTIONS
1 To Test Pin A 455 kHz Adjust iron core of
(base of mixer stage); 4th i.f. transformer
return lead to Test for maximum output.

Pin C (negative line)

2 As Step 1. 455 kHz Adjust iron core of
3rd i.f. transformer
for maximum output.

3 As Step 1. 455 kHz Adjust iron core of
2nd i.f. transformer
for maximum output

4 As Step 1. 455 kHz Adjust iron core of
1st i.f. transformer
for maximum output

5 Repeat Steps 3 and 4
until maximum output
is obtained.

BROADCAST ALIGNMENT

If the receiver logging is satisfactory, the signal circuits may be aligned
as follows:

1. Connect i.f. attenuator to Test Pins B and C (resistor to Pin C).

2. Set signal generator frequency to 1000 kHz and connect generator
output to receiver antenna socket with 100pF dummy antenna in series.

3. Tune receiver so that pointer approximately corresponds with dial
reading of 1000 kHz; fine-tune receiver to obtain maximum output
at signal generator frequency.

4. Adjust r.f. amplifier trimmer capacitor and both antenna trimmer
capacitors for maximum output.



ON/OFF SWITCH

19 80 12:4

1 Vi(es
)

.

2
99

CIRCUIT BOARD
PRINTED WIRING SIDE

MODEL MN-C29AL
prAWN| DATE | ch'ko | APPD.
A0 |17-7-72 ,,9‘6 ® 55 @
ANTENNA FLY LEAD
i ® Q < :
+ i & . &= AC FEEDBACK

QP 2

CK

o

SPEAKER
SOCKET

13-0 VOLTS D.C.
INPUT
(710mA TYPICAL)

ﬂl =

—®



BF 195 BF194 BF 194 BF 194 BF 194 0ASO BC149 0C947 2N4241

AT 320 BF 184 BF184 BF184 BF184 IN60A
AT321 AT321 AT 321 AT 321
AN ——a——
@ %@gﬂﬂ A A
_ !'SVW
LINK
I % gl % % ® CIINPLC % ol ©3

1-5K

10K

@

ANTENNA
) FLY-LEAD

AUDIO SENSITIVITY
TYPICALLY § mV INPUT
FOR 50mW OUTPUT

15 OHM LOAD

47K a /

VOLUME

snx

£ ®
:"}@

s

=0
S
=5
J

-

QJ'

g )
;:@
i

@.L

rl--=

.;|_7'
L

oHE—

®

= @ _J_ 18

-0022 022
% %

-
10K 33K
WA .

12-6V

o OPVOFF SWITCH—WIRING SIDE VIEW
? 2 30 NOTE- SWITCH SHOWN IN OFF POSITION
OSCILLATOR SHUNT COIL |
AND LF TRANSFORMER < & - T F & - 13-0 VOLTS D.C. .o
UNDERSIDE VIEW A i ¢ € F_ e ! _J_ « .
8 & 1F4sskHz [ H L
640
M N . ® @& 7
N O P R s I vV ow X
PERMEABILITY TUNER UNIT - - = - - = - - -
TUNING RANGE 525- 1615kHz
REAR VIEW —o

? 6 6 6' TRANSISTORS UNDERSIDE VIEW
TTUTETToTTTTES ! ot
e sJ NOTE. DENOTES TEST PIN
ALL VOLTAGES MEASURED BETWEEN POINTS INDICATED AND EARTH -
El El WITH A D.C. VACUUM TUBE VOLTMETER. NO NPUT SIGNAL MODE L MN C 2 9 A L
. oF 190 acre art ocoir MANUAL TUNING — THUMBWHEEL
84
BF 196 8 TRANSISTOR NEGATIVE TO CHASSIS
DIODE 2N G246
_L__D:,K_ _N,K_ K THIS RECEIVER DESIGNED SPECIALLY
RED” BR CBLACK AT3! FOR HOLDEN LJ TORANA
090 arane] LBt AT320 MODEL MN-C29AL ORDERED
INGO A CHAMFER UNDER STOCK NUMBER CW224

[orawn] DATE [ chko [ aPPo |

[ao fmrm])f R ]

CONCISE DATA

Tuning Range:
Intermediate Frequency:
Supply Voltage:

Current Consumption:
Power Output:

Speaker Impedance:

525 - 1615 kHz approx.
455 kHz.

130 volts d.c.

710 milliamps (typical)
2 watts

15 ohms



	Front
	1
	2
	3
	4
	5
	6
	7
	Board Overlay
	Circuit

